Production costs in the new factory will be £300 per box in the first year, rising by 2% per annum thereafter. Additional annual cash flows are £150,000 for administration and £50,000 for distribution costs (each anticipated to rise at 4% per annum). Depreciation is expected to be £750,000 per annum.

0
At the end of the contract it is anticipated that the factory could be sold for £20 million (after tax).

Option 2:

Expansion of the current manufacturing facility will require expenditure of £6 million on new plant and equipment. Production costs will be £325 per box (rising by 2 % per annum). Due to the expansion additional administration costs of £15,000 per annum (rising by 3% per annum) will be borne.

As a direct result of the expansion at the existing factory, Quinn Limited will no longer be able to manufacture and sell some of its existing range. Net revenues are expected to fall by £1.5 million per annum (rising by 2% per annum) as a result of this.

Other relevant information:

The corporate tax rate can be assumed to remain at 30% throughout the life of the project and taxation is paid one year in arrears. Capital allowances are available on the plant and machinery expenditure on a straight-linebasis over 10 years. '\

Quinn Limited's current cost of capital is 10%.

You can assume that other than the initial expenditure, all cash flows arise at the end of the year to which they relate.

Required:

Prepare a report to the directors of Quinn Limited concerning the proposed expansion. Your report should include the following:

a) An evaluation of whether option 1 option 2 should be undertaken. Should include:

This

11.

Calculation and comparison of the net present value for each option.

An analysis of other matters (i.e.: other than the net present value) to be considered in the decision process.

b) An evaluation of appropriate sources of finance that could be used to fund your chosen option.

You report should be word processed and of not more than 2,500 words. Detailed net present value calculations should be included as an appendix.

